


The	graph	is	skinnier	because	the	leading	coef5icient	is	
bigger.		
The	graph's	minimum	value	is	y=1,	which	is	higher	than	
the	equation's	of	y	=	-1.	
They	both	have	the	same	x-value	for	the	vertex.

They	both	have	the	same	x-value	for	the	vertex.	
The	graph	opens	down	instead	of	up	for	the	equation.
The	graph	has	a	higher	minimum	value	(y=8),	compared	
to	the	equation's	(y	=	-1)

The	graph	is	wider	than	the	equation	because	
the	leading	coef5icient	is	smaller	than	the	
equations.
The	x-value	of	the	vertex	of	the	graph	is	-1	
instead	of	the	equations	(x	=	1)




